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MONTHLY TEST – JULY, 2023 
 

1. __________ is a tough and thick white sheath that protects the inner parts 
of the eye. 
a. Sclera   b. Conjunctiva  c. Cornea 
d. Iris    e. Answer not known 
_________ vd;gJ cWjpahd> jbj;j ntz;zpw ciwahf mike;J 
fz;zpd; cs;ghfq;fisg; ghJfhf;fpd;wJ. 
a. ];f;nyuh    b. fz;[q;bth  c. fhh;dpah  
d. Ihp];   e. tpil njhpatpy;iy 

 
2. Red light has a wavelength of 

a. 400 nm  b. 500 nm    c. 600 nm 
d. 700nm  e. Answer not known 
rptg;G epw xspapd; miyePsk; ________ 
a. 400 nm  b. 500 nm    c. 600 nm  
d. 700nm  e. tpil njhpatpy;iy 

 
3. Focal length of a convex mirror whose radius of curvature 40 cm is 

a. 20 cm  b. 40 c,   c. 80 cm   
d. infinity  e. Answer not known 
40 nr.kP tisT Muk; cila Ftpahb xd;wpd; Ftpaj; njhiyT 
a. 20 nr.kP  b. 40 nr.kP   c. 80 nr.kP   
d. Kbtpyp  e. tpil njhpatpy;iy 

 
4. An Achromatic lens produces 

a. Multi Coloured Image   b. Enlarged Image 
c. Black and white image   d. Unaffected clear image 
e. Answer not known 
epwg;gpwo;r;rp ePf;fpa tpy;iyfs; nfhLf;Fk; gpk;gk;  
a. gy epwg;gl;l gpk;gk;   b. cUtj;jpy; nghpa gpk;gk; 

c. fWg;G – nts;is epw gpk;gk;  d. njspthd gpk;gk; 
e. tpil njhpatpy;iy 
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5. Holography can be used in the formation of 
a. three dimensional images  b. two dimensional images 
c. one dimensional images  d. half dimensional images 
e. Answer not known 
N`hNyhfpuhgp ,jid cUthf;f gad;gLfpd;wJ. 
a. Kg;ghpkhd gpk;gq;fs;    b. ,U ghpkhd gpk;gq;fs;  
c. xU ghpkhd gpk;gq;fs;    d. miu ghpkhd gpk;gq;fs; 
e. tpil njhpatpy;iy 

 
6. Oil, natural gases and coal are examples of 

a. Geothermal Fuel  b. Biofuels   c. Fossil Fuels 
d. Renewable Fuel   e. Answer not known 
vz;nza;> ,aw;if thA> epyf;fhp Kjypad ________ MFk; 

a. Gtp ntg;g vhpnghUs;  b. caph; vhpnghUs; c. gbk vhpnghUs; 
d. GJg;gpf;fty;y vhpnghUs; e. tpil njhpatpy;iy  

 
7. Because evil produces evil, therefore should evil be feared more than 

_____ 
a. Fire  b. Tsunami c. Fate d. Ghost e. Answer not known 
jPanray;fs; jPikia tpistpg;gjhy;> mj;jPa nray;fs; vijtpl 
kpifahf mQ;rj;jf;fd?  
a. neUg;igtpl   b. flw;Nfhistpl   c. Copiatpl  

d. Ngiatpl   e. tpil njhpatpy;iy 
 

8. enaippakai yutraarum uyvar vinaippakai 
veeyaadhu pinsendru adum 
In this Kural the term ‘Adum’ means 
a. will win  b. killing   c. Laughing    
d. Shy   e. Answer not known  
vidg;if cw;whUk; ca;th; tpidg;gif  
tPahJ gpd;nrd;W mLk; - vd;w Fwspy; tUk; “mLk;" vd;w nrhy;ypd; 
nghUs; vd;d?  
a. nty;Yk;   b. nfhy;Yk;   c. eiff;Fk;    

d. ehZk;   e. tpil njhpatpy;iy 
 

9. Graafian follicle are characteristically found in the  
a. ovary of frog   b. ovary of mammal   
c. thyroid of mammal   d. testis of mammals  
e. Answer not known 
fpuhgpad; ghypfps; vd;gJ d; tpyq;fpdj;jpd; gz;ghf cs;sJ. 
a. jtisapd; mz;lfk;  b. ghY}l;bapd; mz;lfk; 
c. ghY}l;bapd; ijuha;L  d. ghY}l;bapd; tpe;jfk; 
e. tpil njhpatpy;iy 
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10. Match the following: 
A. Ovi duct      1. Fallopian duct 
B. Yas deferens     2. Vagina 
C. Gamete Intra fallopian transfer  3. Vasectomy 
D. Cervical cap     4. Tubectomy 

A B C D 
a. 2 1 4 3 
b. 3 4 2 1 
c. 1 2 3 4 
d. 4 3 1 2 
e. Answer not known 
nghUj;Jf. 
A. mz;l ehsk;      1. ngNyhg;gpad; Foy; 

B. tpe;J ehsk;     2. fytpf;fhy;tha; 

C. ,dr;nry; mz;lehs; cl;nrYj;Jjy;  3. thnrf;lkp 
D. fUj;jil jpiu rt;T    4. Ba+ngf;lkp 

A B C D 
a. 2 1 4 3 
b. 3 4 2 1 
c. 1 2 3 4 
d. 4 3 1 2 
e. tpil njhpatpy;iy 

 
11. The seminiferous tubule is the supporting cells are cells of specialized 

functions called 
a. cells of sertoli  b. cells of labules  c. cells of legdig  
d. Cells of scrotum e. Answer not known 
Mz; ,dg;ngUf;f cWg;gpy; nrkpdpgpu]; nry;Yf;F gf;fgykhf ,Uf;f 
$ba rpwg;G gzpfis nra;af;$ba nry;fs; 
a. nrul;Nlhyp nry;fs; b. NygpNahy; nry;fs; 
c. ypf;bf; nry;fs;  d. tpijg;igapy; cs;s iry;fs; 

e. tpil njhpatpy;iy 
 
12. Which organelle is absent in human sperm 

a. Nucleus     b. Centriole  
c. Endoplasmic reticulum  d. Mitochondria  
e. Answer not known 
kdpjdpd; tpe;J nry;ypy; ,y;yhj nry; Ez; cWg;G vJ? 
a. cl;fU       b. nrd;hpNahy;   
c. vd;Nlh gpshrtiy    d. ikl;Nlhfhd;hpah  
e. tpil njhpatpy;iy 
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13. The Hormone which maintains pregnancy and regulates Menstrual cycle 
is 
a. Progesterone  b. Oestrogen   c. Relaxin  
d. Testosterone  e. Answer not known 
khjtplha; Row;rp kw;Wk; fh;g;g epiyia rPuhf guhkhpf;Fk; `hh;Nkhd;  
a. GNuhn[];buhd;  b.<];l;Nuh[d;   c. Hpyhf;]pd;  

d. nl];l;Nlh];Buhd; e. tpil njhpatpy;iy 
 
14. The hormones secreted by neurohypophysis are 

a. Vasopressin and Oxytocin 
b. FSH and TSH 
c. Neurohormones and Teratohormones 
d. ACTH and CCTH 
e. Answer not known 
epa+Nuhi`g;Ngh igrp];rhy; Ruf;fg;gLk; `hh;Nkhd;fs; 
a. thNrhgpurpd; kw;Wk; Mf;]plhrpd; 
b.vg;.v];.vr;. kw;Wk; b.v];.vr;. 
c. epa+Nuh`hh;Nkhd; kw;Wk; nluNlh`hh;Nkhd; 

d. V.rp.b.vr;.  kw;Wk; rp.rp.b.vr;. 
e. tpil njhpatpy;iy 

 
15. Which one of the following is not correct about the Vijaya Nagar Steel 

Plant? 
a. It is located in the Bellary District of Karnataka 
b. It obtains coal from Jharia 
c. It obtain hydro electricity from the Tungabhadra project 
d. It makes use of coal known as Corex process 
e. Answer not known 
fPo;fz;ltw;Ws; vJ tp[aefh; ,Uk;G v/F MiyAld; nghUe;jhJ? 
a. ,J fh;ehlfhtpd; ngy;yhhp khtl;lj;jpy; mike;Js;sJ. 
b. ,jw;F [hhpahtpypUe;J epyf;fhp ngWfpwJ. 
c. ,jw;F Jf;fgj;uh ePh;kpd; rf;jpapypUe;J ePh;kpd;rf;jp fpilf;fpwJ. 
d. ,q;F epyf;fhpahdJ Nfhuf;]; Kiwapy; gad;gLj;jg;gLfpwJ. 
e. tpil njhpatpy;iy 

 
16. In the total length of the Cauvery, how much percentage of length flow 

into Tamil Nadu? 
a. 41.0% b. 46.0% c. 56.0% d. 51.0% e. Answer not known 
nkhj;j fhtphp Mw;wpd; ePsj;jpy;> vt;tsT rjtpfpj ePsk; jkpo;ehl;by; 
cs;sJ? 
a. 41.0% b. 46.0% c. 56.0% d. 51.0% e. tpil njhpatpy;iy 
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17. Assertion (A): Black soil gets their parent materials from the 
weathered igneous rocks. 
Reason (R): The Black soils have a high water retaining capacity. 
a. (A) and (R) are correct and (R) is true explanation of (A) 
b. Both (A) and (R) are correct but (R) does not explain (A) 
c. Only (A) is correct, (R) is false 
d. Only (A) is false but (R) is true 
e. Answer not known 
$w;W (A): fhpry; kz; mtw;wpd; Kyg;nghUl;fis rpijTw;w 
jPg;ghiwfspypUe;J ngWfpwJ. 
$w;W (R): fhpry; kz;zpw;F mjpf ePiu jf;f itf;Fk; jpwd; cs;sJ. 

a. (A) kw;Wk; (R) rhpahdit kw;Wk; (R) vd;gJ (A) ,d; cz;ikahd 
tps;ffk; 

b. (A) kw;Wk; (R) ,uz;Lk; rhpahdit Mdhy; (R)> (A) is 
tpsf;ftpy;iy 

c. (A) kl;Lk; rhpahdJ (R) jtwhdJ 
d. (A) kl;LNk jtwhdJ Mdhy (R) rhpahdJ 
e. tpil njhpatpy;iy 

 
18. Steel industry is popularly called as 

a. Oldest industry  b. Traditional industry c. Mother industry 
d. Private industry e. Answer not known 
,Uk;G v/Fj; njhoy; ________ vd;W miof;fg;gLfpwJ. 
a. goikahdj;njhopy; b. kuGj;njhopy;  c. jha;j;njhopy;  

d. jdpahh; njhopy;  e. tpil njhpatpy;iy 
 
19. Which one of the following mines has the best quality of coking coal 

a. Bailadila   b. Jharia   c. Raniganj   
d. Singrauli   e. Answer not known 
gpd;tUk; Ruq;fq;fspy; vq;F jukhd vhpjpwDs;s epyf;fhp fpilf;fpwJ? 
a.nga;yhbah   b. [hhpah   c. uhzpfQ;r;   

d. rpq;fnusyp  e. tpil njhpatpy;iy 
 
20. Odisha is the leading producer of _______ for about half of the total 

production of the country in 2022 
a. Coal   b. Iron ore   c. Copper   
d. Manganese  e. Answer not known 
2022k; Mz;by; ,e;jpahtpy; ghjp gq;F nkhj;j _______ cw;gj;jpapy; xbrh 
khepyk; Kjd;ik tfpf;fpd;wJ. 
a. epyf;fhp   b. ,Uk;GjhJ  c. nrk;G    

d. khq;fdp];  e. tpil njhpatpy;iy 
 



 

6 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

21. What does Valluvar say as an example of help that can be done without 
considering exchange? 
a. mountain b. rain c. foot hill d. Sea e. Answer not known 
ifkhW fUjhky; nra;Ak; cjtpf;F jpUts;Sth; ctikahf $WtJ 
ahJ? 
a. kiy  b. khhp c. Fd;W  d. ngstk; e. tpil njhpatpy;iy 

 
22. What is the characteristic of a superior who knows duty? 

a. He will do charity when there is wealth 
b. He will do not charity when there is no wealth 
c. will not scant their benevolence even when they are without wealth. 
d. a and c 
e. Answer not known 
xg;GuT mwpe;j mwpTilNahhpd; gz;G ahJ? 
a. nry;ttsk; cs;s fhyj;jpy; xg;GuT nra;th;  
b. nry;ttsk; ,y;yhj fhyj;jpy; xg;GuT nra;ahh;  
c. nry;ttsk; ,y;yhj fhyj;jpYk; xg;GuTf;F jsu khl;lhh;.  
d. a kw;Wk; c  
e. tpil njhpatpy;iy 

 

23. The major energy resource in India is  
a. Petroleum  b. coal   c. Natural gas  

d. Atomic energy  e. Answer not known 
,e;jpahtpd; Kf;fpa vhprf;jp tsk; 
a. ngl;Nuhypak;    b. epyf;fhp   c. ,aw;if vhpthA   
d. mZ Mw;wy;  e. tpil njhpatpy;iy 

 

24. Arrange the following state in a descending order of iron ore production 
and select the correct answer using the code given below: 
1. Rajasthan  2. Goa  3. Karnataka   4. Odissa 
a. 3, 4, 2, 1  b. 3, 4, 1, 2     c. 4, 3, 1, 2    
d. 4, 1, 3, 2   e. Answer not known 
fPo;fz;l khepyq;fis ,Uk;G v/F cw;gj;jpapd; mbg;gilapy; ,wq;F 
thpirapy; nfhz;L nfhLf;fg;gl;Ls;s FwpaPl;il gad;gLj;jp rhpahd 
tpilia Njh;e;njLf;fTk;. 
1. ,uh[];jhd; 2. Nfhth  3. fh;ehlfh  4. xbrh  
a. 3, 4, 2, 1  b. 3, 4, 1, 2     c. 4, 3, 1, 2    
d. 4, 1, 3, 2   e. tpil njhpatpy;iy 

 

25. Buddhist poet Asvaghosa wrote ‘Buddha Charita’ in _______ language 
a. Prakrit   b. Pali     c. Urdu 
d. Sanskrit   e. Answer not known 
Gj;j ftpQh; m];tNfh~h; “Gj;j rhpij” ia ______ nkhopapy; vOjpdhh; 
a. gpuhfpUjk;  b. ghyp    c. cUJ 
d. rk];fpUjk;  e. tpil njhpatpy;iy 
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26. 2 men and 3 boys can do a piece of work in 10 days while 3 men and 2 
boys can do the same work in 8 days. In how many days can 2 men and 1 
boy do the work? 

a. 
1

12
2

days   b. 12 days   c. 
1

13
2

 days 

d. 13 days   e. Answer not known 
2 Mz;fs; kw;Wk; 3 rpWth;fs; Nrh;e;J xU Ntiyia 10 ehl;fspy; nra;J 
Kbg;gh;. mNj Ntiyia 3 Mz;fs; kw;Wk; 2 rpWth;fs; Nrh;e;J 8 
ehl;fspy; nra;J Kbg;gh; vdpy; 2 Mz;fs; kw;Wk; 1 rpWth; Nrh;e;J 
mt;Ntiyia vj;jid ehl;fspy; Kbf;f KbAk;? 

a. 
1

12
2
ehl;fs;  b. 12 ehl;fs;  c. 

1
13

2
 ehl;fs;  

d. 13 ehl;fs;    e. tpil njhpatpy;iy 
 
27. The area of the biggest circle cut out from the square of ‘a’ units is 

(approx.) 

a. 211

14
a  sq.units  b. 23

14
a sq. units  c. 23

7
a  sq. units 

d. 29

14
a  sq. units  e. Answer not known 

‘a’ myF gf;f msTs;s xU rJuj;jpypUe;J ntl;bnaLf;fg;gLk; 
kpfg;nghpa tl;lj;jpd; gug;gsT fhz;f. (Njhuhakhf) 

a. 211

14
a  r.m   b. 23

14
a  r.m   c. 23

7
a  r.m  

d. 29

14
a  r.m   e. tpil njhpatpy;iy 

 
28. A garden roller whose length is 3 m long and whose diameter is 2.8 m is 

rolled to level a garden.  How much area will it cover in 8 revolutions? 
a. 212.2 m2   b. 252.2 m2   c. 211.2 m2 
d. 211.5 m2   e. Answer not known 
ePsk; 3 kP kw;Wk; tpl;lk; 2.8 kP cila xU rkd;gLj;Jk; cUisiaf; 
nfhz;L xU Njhl;lk; rkd;gLj;jg;gLfpwJ. 8 Rw;Wfspy; vt;tsT gug;ig 
cUis rkd; nra;Ak;? 
a. 212.2  kP2   b. 252.2 kP2   c. 211.2 kP2 
d. 211.5 kP2   e.  tpil njhpatpy;iy 
 

29. A alone can do a work in 10 days and B alone in 15 days. They undertook 
the work for Rs. 2,00,000. The amount that A will get is 
a. Rs. 1,00,000  b. Rs. 1,20,000  c. Rs. 1,50,000 
d. Rs. 1,02,000  e. Answer not known 
A vd;gth; jdpNa xU Ntiyia 10 ehl;fspYk; B Mdth; jdpNa 15 
ehl;fspYk; Kbg;gh;. mth;fs; ,e;j Ntiyia &. 2>00>000 njhiff;F 
xg;Gf;nfhz;ldh; vdpy;> A ngWk; njhif _____ MFk;. 
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a. &. 1>00>000  b. &. 1>20>000   c. &. 1>50>000 
d. &. 1>02>000  e. tpil njhpatpy;iy 

 
30. The perimeter of a triangular plot is 360 m. The ratio of their sides is 3 : 4 : 

5. Then the area of the plot is ____ m2. 
a. 30 m2   b. 180 m2   c. 3600 m2  
d. 5400 m2   e. Answer not known 
xU Kf;Nfhz tbtpyhd kidapd; Rw;wsT 360 kP mjd; gf;fq;fs; 3 : 4 
: 5 vd;w tpfpjj;jpy; cs;sd vdpy; me;j kidapd; gug;gsT ____ kP2. 
a. 30 kP2   b. 180 kP2   c. 3600 kP2   
d. 5400 kP2   e. tpil njhpatpy;iy 

 
31. Match the following: 

A. Aryabatta    1. Mathematician 
B. Nagarjuna    2. Jain Scholar 
C. Siddhar Sena    3. Buddhist Scholar 
D. Vira Sena Seva    4. Grammar Scholar 

A B C D 
a. 4 1 3 2 
b. 1 3 2 4 
c.  1 2 3 4 
d. 4 3 2 1 
e.  Answer not known 
fPo;fz;ltw;iw nghUj;Jf. 
A. Mhpagl;lh  1. fzpj Nkij 
B. ehfh;[{dh  2. rkz Gyth; 
C. rpj;j Nrdh;  3. Gj;j Gyth; 
D. tPu Nrd Nrth  4. ,yf;fz Gyth; 

A B C D 
a. 4 1 3 2 
b. 1 3 2 4 
c.  1 2 3 4 
d. 4 3 2 1 
e.  tpil njhpatpy;iy 

 

32. Which of the following statements are true about Buddhism? 
1. Buddhism denied the authority of Vedas 
2. Buddha’s teachings were largely based on Brahmanic ideas of 

Punarjanma, Karma and Moksha 
3. Buddhism was not practical and ethical 
4. Buddhism accepts God as creator 
a. 1, 2, 3 are correct b. 1 and 2 are correct  c. only 2 is correct 
d. 3 and 4 are correct e. Answer not known 



 

9 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

fPo; Fwpg;gplg;gLgtw;wpy; ngsj;j kjk; Fwpj;j rhpahd $w;iw Njh;T 
nra;f 
1. ngsj;jk; Ntjq;fspd; Mjpf;fj;ij kWf;fpwJ 
2. ngsj;j Nghjidfs; kWgpwg;G> Nkhl;rk;> fh;kh Mfpa gpuhkzf; 

fUj;Jf;fis mbg;gilahff; nfhz;lJ 
3. ngsj;jk; eilKiw kw;Wk; newpKiwaw;wJ 
4. ngsj;jk; flTisg; gilg;gtuhf Vw;Wf;nfhs;fpwJ 
a. 1> 2 kw;Wk; 3 rhp b. 1 kw;wk; 2 rhp   c. 2 kl;Lk; rhp 
d. 3 kw;Wk; 4 rhp  e. tpil njhpatpy;iy 

 
33. The Buddhist scholar vasubandhu was patronized by whom? 

a. Samudragupta   b. Skandagupta   c. Chandragupta I  
d. Kumaragupta   e. Answer not known 
Gj;j rka mwpQh; tRge;Jit Mjhpj;jth; ahh;? 
a. rKj;jpuFg;jh;  b. ];fe;j Fg;jh;  c. Kjyhk; re;jpuFg;jh; 
d. FkhuFg;jh;  e. tpil njhpatpy;iy 

 
34. Hiuen-Tsang visited Kanchipuram during the period of 

a. Mahendra Varma I b. Narshimha Varma I c. Rajashimha I  
d. Mahendra Varma II e. Answer not known 
Athd; Rthq; ahUila Ml;rpf; fhyj;jpy; fhQ;rpGuj;jpw;F tUif Ghpe;jhh;. 
a. Kjyhk; kNfe;jputh;kd; b. Kjyhk; eurpk;kth;kd;   
c. ,uh[ rpk;kd; I   d. ,uz;lhk; kNfe;jputh;kd;  

e. tpil njhpatpy;iy 
 
35. Consider the Statement and Reason: 

Statement (A): Buddhism flourished in India because Asoka patronized 
Buddhism. 
Reason (R): Buddha was a man of royal blood. 
a. Both(A) and (R) are correct (R)is the correct explanation of (A) 
b. Both(A) and (R)are correct(R)is not the correct explanation of (A) 
c. (A) is correct but (R) is wrong 
d. (A) is wrong but (R) is correct 
e. Answer not known 
nfhLf;fg;gl;Ls;s thrfk; kw;Wk; fhuzj;ij fUj;jpy; nfhz;L fPNo 
nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J rhpahd tpilia Njh;e;njL 
thrfk; (A): mNrhfhpd; Mjuthy; Gj;jkjk; ,e;jpahtpy; nropj;jJ 

fhuzk; (R): Gj;jh; uh[tk;rj;ij Nrh;e;jth; 
a. (A) kw;Wk; (R) ,uz;Lk; rhp (A) tpw;fhd rhpahd tpsf;fj;ij 

nfhLf;fpwJ 
b. (A) kw;Wk; (R) ,uz;Lk; rhp (A) tpw;fhd rhpahd tpsf;fk; my;y 
c. (A) kl;Lk; rhp Mdhy; (R) rhpay;y 
d. (A) rhpay;y Mdhy; (R) kl;Lk; rhp 
e. tpil njhpatpy;iy 
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36. In which year the first Buddhist council was held? 
a. 483 B.C  b. 387 B.C    c. 236 B.C   
d. 136 B.C  e. Answer not known 
Kjy; ngsj;j rka khehL ve;j Mz;L eilngw;wJ? 
a. fp.K 483  b. fp.K 387    c. fp.K 236   
d. fp.K 136   e. tpil njhpatpy;iy 

 
37. Humayun the eldest son of Babur, succeeded to the throne in _______ 

after the death of his father 
a. A.D. 1535   b. A.D. 1530   c. A.D. 1540   
d. A.D. 1545   e. Answer not known 
ghghpd; kuzj;jpw;Fg; gpwF mtuJ %j;jkfdhfpa ckhA+d; _______ k; 
Mz;L Kfyha kd;duhf nghWg;Ngw;whh;. 
a. fp.gp. 1535  b. fp.gp. 1530  c. fp.gp. 1540   
d. fp.gp. 1545   e. tpil njhpatpy;iy 

 
38. Which state was divided into “Seven waring principalities’ during 

Akbar’s reign?  
a. Bihar  b. Bengal  c. Gujarat  d. Orissa e. Answer not known 
mf;ghpd; fhyj;jpy; ve;j khepyk; VO Ngh; Ghpe;Jnfhs;Sk; gpuNjrq;fshf 
gphpf;fg;gl;lJ?  
a. gP̀ hh; b. ngq;fhy; c. F[uhj; d. xhp];]h e. tpil njhpatpy;iy  

 

39. (A): Akbar became the forerunner of ‘Sardha Act’. 
(B): He imposed the minimum age bar as 18 years for boy and 14 years 
for girls in order to discourage the child marriage 
a. A is true but B is false  b. Both A and B true  
c. A is false and B is true  c. Both A and B are false   
e. Answer not known 
(A): mf;gh; rhujh rl;lj;jpd; Kd;Ndhbahf jpfo;e;jhh; 
(B): ,th; Mzpw;F 18 taJk; ngz;zpw;F 14 taJkhf jPhkhdpj;J 
Foe;ij jpUkzj;ij Fiwf;f eltbf;if vLj;jhh; 
a. (A) rhp Mdhy; (B) jtW b. (A) kw;Wk; (B) rhp  
c. (A) jtW kw;Wk; (B) rhp d. (A) kw;Wk; (B) jtW   

e. tpil njhpatpy;iy 
 

40. Which among the following is Kural? 
a. “Take this”.  Better than that is to say, “I do not want it”. 

It is a dishonor to say, “Give me something.” 
b. On the other hand, it is a greater dishonor to reply, 

“I will give nothing.” 
c. Even if someone is ready to give their life, don’t get it 
d. To receive is a vice 
e. Answer not known 
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gpd;tUtdtw;Ws; vJ Fws;? 
a. nfhs;nsdf; nfhLj;jy; cah;e;jd;W mjndjph; 

nfhs; Nsd; vd;wy; 
b. <nad ,uj;jy; ,ope;jd;W mjndjph; 

<Nad;vd;wy; mjdpDk; ,ope;jd;W 
c. ,d; capNuDk; nfhs;Sjy; jPJ 
d. ey;yhW vdpDk; nfhsy;jPJ 
e. tpil njhpatpy;iy 

 
41. Which is more distressing than begging? 

a. hunger     b. living in poverty   
c. not sharing food with others  d. being selfish   
e. Answer not known 
,ug;gijtpl Jd;gkhdJ vJ? 
a. grp    b. tWikapy; tho;jy; c. gFj;Jz;zhjpUj;jy; 
d. RaeykhapUj;jy; e. tpil njhpatpy;iy 

 
42. Which will protect one from this evil world? 

a. Wealth  b. empathy    c. Love   
d. Humility   e. Answer not known 
jPath; cyfj;jpypUe;J xUtiu vJ fhf;Fk;? 
a. nry;tk;  b. mUs;    c. md;G 
d. gzpT  e. tpil njhpatpy;iy 

 
43. During the time of which Mughal Emperor gave permission to the British 

East India Company to established its 1th factory in Surat  
a.  Akbar   b. Jahangir    c. Shajahan 
d. Humayum  e. Answer not known 
Mq;fpyf; fpof;fpe;jpaf; fk;ngdp> jdJ Kjy; njhopy;fiyia #uj;jpy; 
ve;j Kjyhag; NguurUila mDkjpapd; Nghpy; njhlq;fpaJ? 
a. mf;gh;   b. [`hq;fPh;    c. ~h[`hd; 
d. `{khA+d;   e. tpil njhpatpy;iy 

 
44. In 1657 Aurangazeb defeated Dera Shikoh at the battle of  

a. Dharmat   b. Sarhind   c. Udaipur 
d. Jodhpur   e. Answer not known 
1697-y; xsuq;frPg; jhuh~Pf;Nfhit Njhw;fbj;j Nghh;f;fsk; 
a. jhh;kl;   b. rh;`pe;j;   c. cja;G+h; 
d. N[hj;G+h;   e. tpil njupatpy;iy 

 
45. During the Mughal period the word ‘banjaras’ refers to  

a. Peasants   b. Traders   c. Soldiers  
d. Teachers   e. Answer not known 
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Kfyhah; fhyj;jpy; “ghd;[uh];” vd;w nrhy; Fwpg;gJ 
a. tptrhapfs;  b. tzpfh;fs;   c. giltPuh;fs;  
d. Mrphpah;fs;  e. tpil njhpatpy;iy 

 
46. What is the ministry of Diwani – I – Ariz in Sher Shah Sur period? 

a. In charge of Army  b. In charge of Revenue and Finance 
c. Foreign Minister  d. Minister for communication 
e. Answer not known 
n~h;~h #h; Ml;rpf; fhyj;jpy; ve;j Jiwapd; mikr;rh; “jpthdp mhp];” 
vd miof;fg;gl;lhh;? 
a. gilj;Jiw    b. tUtha; kw;Wk; epjp eph;thfk;   
c. maYwTj; Jiw   d. jfty; njhlh;Gj; Jiw 
e. tpil njhpatpy;iy  

 
47. How many recommendations were made by Ashok Mehta Committee in 

its report? 
a. 132  b. 138  c. 142  d. 190  e. Answer not known 
mNrhf; Nkj;jh mwpf;ifapy; vj;jid ghpe;Jiufs; mspf;fg;gl;lJ? 
a. 132  b. 138  c. 142  d. 190  e. tpil njhpatpy;iy 

 
48. Which committee was appointed by the planning commission in 1985 

with respect to local self-governments? 
a. Balwantrai Mehta Committee b. G.V.K. Rao Committee 
c. L.M. Singhvi committee  d. Ashok Mehta Committee 
d. Answer not known   
1985 Mk; Mz;L jpl;lf; FOtpdhy; cs;shl;rp murhq;fk; njhlh;ghf 
epWtg;gl;l FO vJ? 
a. gy;te;j;uha; Nkj;jh FO  b. G.V.K uht; FO 

d. L.M. rpq;fp FO    e. mNrhf; Nkj;jh FO 
e. tpil njhpatpy;iy 

 
49. Article associated with election process of gram Panchayat is 

a. Art 243-A   b. Art 243-O   c. Art 243-H  
d. Art 243-K   e. Answer not known 
fpuhk gQ;rhaj;J Njh;jy; Fwpj;j murpayikg;G rl;l ~uj;J 
a. Art 243-A   b. Art 243-O   c. Art 243-H  
d. Art 243-K   e. tpil njhpatpy;iy 

 
50. Who among the following is the first citizen of a city in India? 

a. Mayor   b. Chairman   c. Sheriff  
d. MLA   e. Answer not known 
,e;jpa mstpy; fPo;fz;lth;fspy; khefuhl;rpapd; Kjy; Fbkfd; vd;gth; 
ahh;? 
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a. Nkah;   b. jiyth;   c. Ch;j;jiyth;  

d. rl;lkd;w cWg;gpdh; e. tpil njhpatpy;iy 
 

51. Consider the following statements 
Eleventh five year plan period 
1. Women, child sex ratio for age group 0-6 to be raised to 935 by 2011-12 

and to 950 by 2016-17 
2. Ensuring that atleast 33 percent of the direct and indirect beneficiaries 

of all government schemes are women and girl children 
Which of the statements given above is/are correct? 
a. 1 only   b. 2 only   c. both 1 and 2  
d. neither 1 nor 2  e. Answer not known 
fPo;f;fz;l $w;iw ftdpf;f. 
gjpndhwhtJ Ie;jhz;L jpl;lj;jpy;  
1. ngz; kw;Wk; Foe;ijfspd; tpfpjhr;rhuk; 0 Kjy; 6 taJ tiu cs;s 

Foe;ijfspd; vz;zpf;if 935 Mf 2011 – 12 Mz;LYk; 950 Mf 2016 
– 17-y; cah;e;jJ 

2. murpd; jpl;lq;fs; Fiwe;jgl;rk; 33 rjtpfpjk; NeubahfNth 
kiwKfkhfNth ngz;fs; kw;Wk; Foe;ijfSf;F Ngha; Nrh;tij 
cWjp nra;tJ 

NkNy nfhLf;fg;gl;Ls;s $w;wpy; vJ rhpahdJ?  
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2  
d. 1 ,y;iy 2 ,y;iy e. tpil njhpatpy;iy 

 

52. Match the following 
A. Special Purpose Agency 1. No elected members 
B. Port Trust   2. Functional Local bodies 
C. Township   3. Mumbai, Chennai, Kolkata 
D. Notified Area Committee 4. Industrialisation 
 A B C D 
a. 3 2 1 4 
b. 1 3 4 2 
c. 2 3 1 4 
d. 2 3 4 1 e. Answer not known 
nghUj;Jf 
A. rpwg;G Nehf;f Kfik  1. epakpf;fg;gl;l cWg;gpdh;fs; 
B. JiwKf eph;thfg; gFjpfs; 2. nray;ghl;L cs;shl;rp mikg;Gfs; 

C. efhpak;    3. Kk;ig> nrd;id> nfhy;fj;jh 

D. mwptpf;fg;gl;l gFjpf;FO 4. njhopy;kakhf;fy; 
 A B C D 
a. 3 2 1 4 
b. 1 3 4 2 
c. 2 3 1 4 
d. 2 3 4 1 e. tpil njhpatpy;iy 
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53. Which of the following bodies regularly reviewed the progress of the five 
year plan 
a. National Development Council b. Planning commission 
c. Cabinet Secretariat   d. Union Cabinet 
e. Answer not known 
Ie;jhz;L jpl;lq;fis Kiwahf MuhAk; epWtdk; vJ?  
a. Njrpa tsh;r;rp FO   b. jpl;l Mizak;  
c. Nfgpdl; nrayh; mYtyfk;  d. kj;jpa Nfgpdl;  
e. tpil njhpatpy;iy 

 

54. The NITI Aayog is a  
a. Constitutional body b. Statutory body  c. Executive body  
d. Sovereign body  e. Answer not known 
epjp MNahf; vd;gJ  
a. murpayikg;gpyhd mikg;G   b. rl;lj;jpyhd mikg;G  
c. nrayhl;rp cUthf;fpa mikg;G  d. ,iwahz;ik nfhz;l mikg;G  

e. tpil njhpatpy;iy 
 

55. The first vice chairman of the NITI Aayog was _____. 
a. Bimal Jalan  b. Rajiv Kumar  c. Y V Reddy  
d. Aravind Panagariya e. Answer not known 
epjp MNahf;fpd; Kjy; Jizj; jiyth;  
a. gPky; [yhd;   b. uh[{t; Fkhh;  c. uh[pt;Fkhh;    

d. Rkd; Nf nghp  e. tpil njhpatpy;iy 
 
56. The ratio of the volume of a cone, a sphere and a cylinder if each has the 

same radius and same height is 
a. 1:4:3  b. 1:3:4   c. 4:3:1   
d. 3:4:1  e. Answer not known 
rkkhd Muk; kw;Wk; cauk; $k;G> Nfhsk;> cUis Mfpatw;wpd; fd 
msTfspd; tpfpjk;. 
a. 1 : 4 : 3  b. 1 : 3 : 4   c. 4 : 3 : 1   
d. 3 : 4 : 1  e. tpil njhpatpy;iy 
 

57. Two pipes can fill a tank in 30 minutes and 40 minutes separately. Third 
pipe can empty the tank in 24 minutes. If all the pipes kept open the tank 
can be filled in 
a. 45 Minutes   b. 50 Minutes  c. 60 Minutes  
d. 70 Minutes  e. Answer not known 
xU njhl;bia ,U Foha;fs; jdpj;jdpNa KiwNa 30 epkplq;fs;> 40 
epkplq;fs; epug;GfpwJ. Kw;nwhU Foha; ePh; epuk;gpa njhl;bia 24 
epkplj;jpy; fhyp nra;Ak;. njhl;b fhypahf ,Ue;J ,k;%d;W Foha;fSk; 
xNu rkaj;jpy; jpwe;J tpl;lhy; mj;njhl;b epuk;g Njitg;gLk; Neuk;. 
a. 45 epkplq;fs;  b. 50 epkplq;fs;  c. 60 epkplq;fs;  
d. 70 epkplq;fs;  e. tpil njhpatpy;iy 
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58. Calculate the area of a sector whose radius and arc length are 6 cm and 20 
cm respectively  
a. 120 cm2    b.    80 cm2    c. 60 cm2      
d. 100 cm2  e. Answer not known 
Muk; 6 nr.kP tpy;ypd; ePsk; 20 nr.kP nfhz;Ls;s tl;lf; Nfhzg; 
gFjpapd; gug;igf; fhz;f.  
a. 120 nr.kP2  b. 80 nr.kP 2   c. 60 nr.kP2   

d. 100 nr.kP2  e. tpil njhpatpy;iy 

 
59. The volume of a solid right circular cone is 4928 cu. Cm. If its height is 24 

cm, then find the radius of the cone 
22

7

 

= 
 

 

a. 14 cm b. 15 cm c. 16 cm d. 17 cm  e. Answer not known 

xU jpz;k Neh;tl;lf; $k;gpd; fd msT 4928 f.nr.kP. kw;Wk; mjd; 

cauk; 24 nr.kP. vdpy; mf;$k;gpd; Muj;ijf; fhz;f 
22

7

 

= 
 

 

a. 14 nr.kP. b. 15 nr.kP. c. 16 nr.kP. d. 17 nr.kP. e.  tpil njhpatpy;iy 

 
60. 7 men can do a work in 52 days how many days can 13 men do the same 

work? 
 a. 25 days  b. 28 days   c. 20 days    

d. 45 days       e. Answer not known 
7 Ml;fs; xU Ntiyia 52 ehl;fspy; nra;J Kbf;fpd;wdh;. mNj 
Ntiyia 13 Ml;fs; vj;jid ehl;fspy; nra;J Kbg;gh;?  
a. 25 ehl;fs; b. 28 ehl;;fs;  c. 20 ehl;;fs;   

d. 45 ehl;fs;  e.  tpil njhpatpy;iy 
 
61. Who is the Vice Chairman of NITI Aayog? 

a. N K Singh  b. Aravind Subramanian  c. Rajiv Kumar 
d. Suman K Bery  e. Answer not known 

epjp MNahf;fpd; Jizj; jiyth; ahh;?  
a. N.K. rpq;   b. mutpe;j; Rg;ukzpad;   c. uh[pt; Fkhh; 
d. Rkd; Nf nghp  e. tpil njhpatpy;iy 

 
62. Which statement is correct for Indian planning commission? 

I. It is not defined in Indian Constitution 
II. Members and Deputy Chairman of it do not have fixed tenure  
III. Members do not require any minimum education 
IV. Deputy Chairman is appointed by the Prime minister 
a. I and II  b. I and III   c. I, II, III and IV   
d. I and IV  e. Answer not known 
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fPo;fz;l $w;wpy; ,e;jpa jpl;lf; fkp~Df;F vJ rhpahdit?  
I. ,e;jpa murpayikg;Gf;F tiuaWf;fg;gl;lit my;y  
II. cWg;gpdh;fs; kw;Wk; cjtpj; jiyth; Fwpg;gpl;l gjtpf;fhyk; 

,y;iy 
III. cWg;gpdh;fSf;F Fiwe;jsT fy;tpj;juk; Ntz;bajpy;iy 
IV. cjtpj; jiytiu epakpg;gJ gpujkke;jphp  
a. I kw;Wk; II  b. I kw;Wk; III   c. I, II, III kw;Wk; IV   
d. I kw;Wk; IV  e. tpil njhpatpy;iy 

 
63. The Balwant Roy Metha Committee was appointed to examine 

a. Democratic – Decentralization   
b. Panchayat Raj Institutions 
c. Administrative arrangements for rural developments  
d. Community development programme 
e. Answer not known 
vd;d fhuzj;jpw;fhf gy;te;j; uha; Nkj;jh FO mikf;fg;gl;lJ? 
a. kf;fshl;rpapyhd mjpfhu guty;  
b. gQ;rhaj;J uh[; epWtdq;fs; 
c. eph;thfj;jpd; %yk; fpuhk tsh;r;rpfs;  
d. r%jha Nkk;ghl;L jpl;lq;fs; 
e. tpil njhpatpy;iy 
 

64. What is the age qualification for a member of District Panchayat?  
a. 21  b. 25  c. 30     d. 35  e. Answer not known 
khtl;l gQ;rhaj;J cWg;gpduhtjw;F taJ jFjp 
a. 21  b. 25  c. 30  d. 35  e. tpil njhpatpy;iy 

 
65. Part IX of the Indian constitution deals with  

a. Municipality   b. Panchayats  
c. Central Government   d. State Government 
e. Answer not known 
,e;jpa murpayikg;gpd; xd;gjhtJ gFjp vjid gw;wp $WfpwJ?  
a. efuhl;rpfs;    b. gQ;rhaj;Jfs;  
c. kj;jpa murhq;fk;  d. khepy murhq;fk;  

e. tpil njhpatpy;iy 
 

66. Which of the following body recommended that the main executive organ 
of the Panchayati Raj System should be located at the district level in the 
form of “ Zila Parished” 
a. Bal wantrai Metha committee 
b. First Administrative Reforms Commission 
c. Asoka Mehta Committee   
d. Planning Commission 
e. Answer not known 
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gpd;tUtdtw;Ws; ve;j mikg;G gQ;rhaj;J uh[; Kiwapy; Kf;fpa 
nray;Jiw cWg;G khtl;l mstpy; “[py;yh ghp~j;” tbtj;jpy; ,Uf;f 
Ntz;Lk; vd;W ghpe;Jiu nra;jJ? 
a. gy;te;j;uha; Nkj;jh FO   

b. Kjy; eph;thf rPh;jpUj;j Mizak; 
c. mNrhf; Nkj;jh FO    
d. jpl;l Mizak;  

e. tpil njhpatpy;iy 
 
67. Match List I with List II 
 A. NITI Aayog    1. 15.03.1950 
 B. National Development Council 2. 22.11.1951 
 C. Finance Commission   3. 01.01.2015 
 D. Planning Commission  4. 06.08.1952 
  A B C D 
 a. 2 1 4 3 
 b. 4 2 3 1 
 c. 3 4 2 1 
 d. 3 1 4 2 

e. Answer not known 
gl;bay; II gl;bay; II cld; nghUj;jp> rhpahd tpilia fPNo 
nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J Njh;e;njL. 
A. epjp MNahf;    1. 15.03.1950 
B. Njrpa tsh;r;rpf; FO   2. 22.11.1951 
C. epjpf; FO    3. 01.01.2015 

D. jpl;lf; FO    4. 06.08.1952 
  A B C D 
 a. 2 1 4 3 
 b. 4 2 3 1 
 c. 3 4 2 1 
 d. 3 1 4 2 

e. tpil njhpatpy;iy 
 
68. The First Planning Commission, in India was set up under the 

chairmanship of 
a. Pandit Jawaharlal Nehru  b. Mahatma Gandhi 
c. Indhra Gandhi    d. Manmohan Singh 
e. Answer not known 
,e;jpahtpy; Kjy; jpl;lf;FO ahUila jiyikapy; mikf;fg;gl;lJ? 
a. gz;bl; [t`h;yhy; NeU  b. kfhj;kh fhe;jp 
c. ,e;jpuh fhe;jp    d. kd;Nkhfd; rpq; 
e. tpil njhpatpy;iy 
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69. Narasimhan Commission’s report is about 
a. Reforms in Insurance Industry b. Reforms in Banking Industry 
c. Reforms in Tax    d. Reforms in Agriculture 
e. Answer not known 
eurpk;kd; FO mwpf;if vijg; gw;wpaJ?  
a. fhg;gPl;Lj; Jiwapy; rPh;jpUj;jk; b. tq;fpj; Jiwapy; rPh;jpUj;jk;  
c. thpKiwapy; rPh;jpUj;jk;   d. tptrhaj;jpy; rPh;jpUj;jk;  
e. tpil njhpatpy;iy 

 

70. NITI Aayog came into existence in the place of 
a. Planning commission  b. Finance commission 
c. Banking commission  d. Education commission 
e. Answer not known 
‘epjp MNahf;’ eilKiwf;F tUtjw;F Kd;G ,Ue;j mikg;G 
a. jpl;lf; FO    b. epjp Mizak;  c. tq;fpf; FO  

d. fy;tpf;FO  e. tpil njhpatpy;iy 
 

71. Choose the expansion of NITI Ayog? 
a. National Information and Taxes in India 
b. National Institution for Trade in India 
c. National Institution for Transforming India 
d. National Integrated Trade Institute   
e. Answer not known 
NITI Aayog vd;gjd; tphpthf;fk; vd;d? 
a. National Information and Taxes in India 
b. National Institution for Trade in India 
c. National Institution for Transforming India 
d. National Integrated Trade Institute 
e. tpil njhpatpy;iy 

 

72. In Redefining Federalism for development plans, Niti Aayog pursues 
partnership with states through 
a. Competitive and Co-operative Federalism  
b. Quasi-Federalism 
c. Unitary and Quasi federalism    
d. None of these 
e. Answer not known 
tsh;r;rp jpl;lgq;fSf;fhf $l;lhl;rpapid kWtiuaiw nra;tjpy; 
khepyq;fSf;filNa epjp MNahf; Nkw;nfhs;Sk; topKiwahdJ 
a. Nghl;b kw;Wk; $l;LwT $l;lhl;rp Kiw    
b. $l;LwT $l;lhl;rp Kiw 

c. Fiw kw;Wk; Fiw $l;lhl;rp Kiw    
d. Nkw;fz;l vJTkpy;iy 
e. tpil njhpatpy;iy 
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73. Select the following statement is/are correct about NITI Aayog. 
I. The aim of NITI Aayog is to achieve sustainable development goals 

and to enhance Cooperative federalism in the country. 
II. The Prime Minister of India is the ex-officio chairperson of the NITI 

Aayog. 
III. There are 8 full time members is the NITI Aayog 
a. II and III only   b. II only    c. I only 
d. I and II only   e. Answer not known 
epjp MNahf; gw;wpa gpd;tUk; mwpf;fiffspy; rhpahdijj; Njh;e;njL: 
I. epjp MNahf;fpd; Nehf;fk; epiyahd tsh;r;rp ,yf;Ffis miltJ 

kw;Wk; ehl;by; $l;LwT $l;lhl;rpia Nkk;gLj;JtJ.  
II. ,e;jpa gpujkh; epjp MNahf;fpd; mjpfhu G+h;t jiytuhf cs;shH. 
III. epjp MNahf;fpy; 8 KONeu cWg;gpdh;fs; cs;sdH 
a.  II kw;Wk; III kl;Lk;  b. II kl;Lk;   c. I kl;Lk; 
d. I kw;Wk; II kl;Lk;  e. tpil njhpatpy;iy 

 
74. Which of the following is not matched correctly about NITI Aayog? 

a. NITI Aayog Head Office: Delhi   
b. NITI Aayog Chairman: Prime Minister 
c. Parent Agency: Government of India    
d.  NITI Aayog Replaced: National Development Council 
e. Answer not known 
NITI MNahf;fpy; gpd;tUtdtw;wpy; vJ rupahfg; nghUe;jtpy;iy? 
a. NITI MNahf;fpd; jiyik mYtyfk; : nly;yp 
b. NITI MNahf;fpd; jiytu; : gpujkh; 

c. NITI MNahf;fpd; jha; epWtdk; : ,e;jpa muR 
d. NITI MNahf; khw;wpaJ : Njrpa tsu;r;rp fTd;rpy 
e. tpil njupatpy;iy 

 
75. The Prime Minister is the head of the : 

1. Finance Commission  2. National Development Council 
3. Cabinet Secretariat 
a. 1, 2 and 3   b. 2 and 3    c. Only 2  
d. Only 1   e. Answer not known 
gpujk ke;jphp jiytuhf ,Uf;Fk; mikg;G 
1. epjp Mizak;    2. Njrpa jpl;l FO 
3. Nfgpdl; nrayhsh; mYtyfk; 
a. 1>2 kw;Wk; 3  b. 2 kw;Wk; 3   c. 2 kl;Lk;  
d.1 kl;Lk;   e. tpil njhpatpy;iy 
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76. Atal Innovation Mission was developed by _____. 
a. NASSCOM     
b. NITI Aayog   
c. Bharat Interface for Money App  
d. Pradhan Mantri Gram Sadak Yojana  
e. Answer not known 
ml;ly; ,d;NdhNt~d; kp~d; ____ My; cUthf;fg;gl;lJ. 
a. eh];fhk;     

b. epjp Mnahf;  

c. ghuj; ,z;lh;/Ng]; kzp nrayp 
d. gpujhd; ke;jphp fpuhk; rlf; Nah[dh   

e. tpil njhpatpy;iy 
 
77. Which among the following was NOT one of the messages of 

Ramakrishna Mission?  
a. Supremacy of Vedas   b. Spiritual Development   
c. Unity of All Religions    d. Service to Humanity 
e. Answer not known 
fPo;f;fz;ltw;Ws;> ve;j xd;W ,uhkfpU~;zh kp~dpd; nfhs;iffspy; 
Fwpg;gpl;lit my;y? 
a. Ntjq;fspd; cah;epiy  b. Md;kpf tsh;r;rp  
c. midj;J kjq;fspd; xw;Wik d. kdpjj;jpw;fhd Nritfs; 
e. tpil njhpatpy;iy 

 
78. Which of the following is correctly matched? 

a. Atmiya Sabha   - Radhakanta Dev    
b. Dharma Sabha  - Debendranath Tagore    
c. Tattvabodhini Sabha - Ram Mohan Roy    
d. Prathana Samaj  - Atmaram Pandurang 
e. Answer not known 
fPo;f;fz;ltw;Ws; vJ rhpahf nghUj;jg;gl;Ls;sJ? 
a. Mj;kpa rgh  - uhjhfz;l Njt;    

b. jh;k rgh   - NjNte;jpuehj; jh$h;    

c. jj;JtNghjpdp rgh - uhk;Nkhfd; uha;    
d. gpuhj;jd rkh[;  - Mj;kuhk; ghz;Luq; 

e. tpil njhpatpy;iy 
 
79. The Widow Remarriage Act was passed in the year  

a. 1856 b. 1857 c. 1858 d. 1859 e. Answer not known 
tpjit kWkzr; rl;lk; vg;NghJ ,aw;wg;gl;lJ?  
a. 1856 b. 1857 c. 1858 d. 1859 e. tpil njhpatpy;iy 

 
 



 

21 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

80. Which of the following city is the Head Quarter of Theosophical society? 
a. Mumbai  b. Delhi   c. Kolkata   
d. Chennai  e. Answer not known 
gpd;tUk; efuq;fspy; gpuk;k Qhd rigapd; jiyikafk; mike;Js;s 
,lk; vJ? 
a. Kk;ig  b. nly;yp   c. nfhy;fj;jh  
d. nrd;id  e. tpil njhpatpy;iy 

 
81. What was the original name of Sister Nivedita?  

a. Saradha   b. Margaret Noble  c. Besant  
d. Bikaji Gama  e. Answer not known 
 rNfhjhp epNtjpjhtpd; ,aw;ngah; vd;d? 
a. rhujh  b. khh;fnul; Nehgps;   c. ngrd;l;   
d. gpfh[p fhkh e. tpil njhpatpy;iy 

 
82. What is grace? 

a. non-killing   b. not eating flesh 
c. not-eating meat   d. all of these 
e. answer not known 
mUs; vdg;gLtJ ahJ?  
a nfhy;yhik    b. Cd; cz;zhik  

c. Gyhy; cz;zhik  d. ,it midj;Jk;  

e. tpil njhpatpy;iy  
 

83. Form of  the Penance is __________ 
a. tolerating the suffering  
b. Not to cause suffering to other lives 
c. Penalty for offenders 
d. a and b 
e. Answer not known 
jtj;jpw;fhd tbtk; ahJ?  
a. jhd; ngw;w Jd;gj;ijg; nghWj;jy;  
b. gpw cah;fSf;F Jd;gk; nra;ahik  

c. CW tpistpj;Njhh;f;F jz;lk; toq;Fjy;  

d. a kw;Wk; b  
e. tpil njhpatpy;iy 

 
84. The fraudful forfeit life and being here below; 

Who fraud eschew the bliss of heavenly beings know. 
In the above Kural the term heavenly beings means _____ 
a. New world  b. heavenly world  c. This world 
d. None of these  e. Answer not known 
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fs;thh;f;Fj; js;Sk; caph;epiy fs;thh;f;Fj;  
js;shJ Gj;Nj SsF 
Nkw;fhZk; Fwspy; Gj;Nj SsF vd;gjd; nghUs; ahJ? 
a. GJ cyfk;  b. NkYyfk;    c. ,t;Tyfk;  
d. ,it VJkpy;iy e. tpil njhpatpy;iy 

 
85. Pick out the wrong statement about Raja Ram Mohan Roy 

a. Raja Ram Mohan Roy established the Brahmo Samaj at Calcutta in 1828  
b. He himself adopted a Christian boy 
c. Ram Mohan Roy started the Bengali weekly Samvad Kaumudi 
d. He died in Bristol in England in 1833 
e. Answer not known 

 ,uh[huhk; Nkhfd;uha; gw;wpa jtwhd $w;iw Rl;bf;fhl;lTk;. 
a. ,uh[huhk; Nkhfd;uha; 1828-y; fy;fj;jhtpy; gpuk;k rkh[k; 

Njhw;Wtpj;jhh; 
b. jhNk xU fpwpj;jtf; Foe;ijia jj;J vLj;Jf; nfhz;lhh;  
c. ,uhk; Nkhfd;uha; tq;fhs nkhopapy; thu ,johd “rk;thj;  nfsKjp” 

njhlq;fpdhh; 
d. 1833-y; ,q;fpyhe;J ghp];ly; vd;w ,lj;jpy; mth; kiwe;jth;  
e. tpil njhpatpy;iy 

 

86. If the perimeter of a square is 80 cm, then its area is 
a. 800 cm2   b.600 cm2    c.400 cm2   
d. 200 cm2  e. Answer not known 
xU rJuj;jpd; Rw;wsT 80 nrkP vd;why;> mjd; gug;gsT 
a. 800 cm2   b.600 cm2    c. 400 cm2   
d. 200 cm2  e. tpil njhpatpy;iy 
 

87. Curved surface area of a solid sphere is 36 cm2. If the sphere is divided 
into two hemisphere then total surface area of one of its hemisphere is 
a. 9 cm2  b. 12 cm2    c. 18 cm2   
d. 27 cm2  e. Answer not known 
xU jplf;Nfhsj;jpd; tisg;gug;G 36nr.kP2. mjid ,U miuf; 
Nfhsq;fshf gphpj;jhy;> xU miuf;Nfhsj;jpd; nkhj;jgug;G vd;d? 
a. 9 nr.kP2  b. 12 nr.kP2    c. 18 nr.kP2   
d. 27 nr.kP2  e. tpil njhpatpy;iy 

 

88. If 9 Spiders make 9 web in 9 days, then 1 Spider will make 1 web in how 
many days? 
a. 1 day  b. 9 days   c. 18 days   
d. 12 days  e. Answer not known 
9 rpye;jpfs; 9 tiyia 9 ehl;fspy; gpd;DfpwJ vdpy; 1 rpye;jp 1 
tiyia vj;jid ehspy; gpd;Dk;? 
a. 1 ehs;  b. 9 ehl;fs;   c. 18 ehl;fs;  

d. 12 ehl;fs; e. tpil njhpatpy;iy 
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89. Two adjacent sides of a parallelogram are 24 cm 18 cm. If the distance 
between longer sides is 12 cm, find the distance between shorter sides. 
a. 16 cm   b. 36 cm    c. 9 cm   
d. 13 cm  e. Answer not known 
xU ,izfuj;jpd; ,uz;L gf;fq;fs; 24 nr.kP 18 nr.kP. ePz;l 
gf;fq;fSf;F ,ilNa cs;s J}uk; 12 nrkP vd;why;> FWfpa 
gf;fq;fSf;F ,ilNa cs;s J}uj;ijf; fz;lwpaTk;. 
a. 16 cm   b. 36 cm    c. 9 cm   
d. 13 cm  e. tpil njhpatpy;iy 

 
90. A cubical tank can hold 27,000 litres of water.  Find the dimension of its 

side (in metres) 
a. 27 m b. 9 m  c. 3 m  d. 6 m  e. Answer not known 
xU fdr; rJu tbt ePh;j; njhl;bapd; nfhs;ssT 27>000 ypl;lh; vdpy; 
mjd; gf;f msitf; fhz; (kPl;lhpy;) 
a. 27 kP b. 9 kP  c. 3 kP  d. 6 kP  e. tpil njhpatpy;iy 

 
91. The principles of Aligarh movement were opposed by whom? 

a. W.C. Banerjee   b. Muhammed Ali Jinnah 
c. Lalalajapati Roy   d. Netaji 
e. Answer not known 
mypfhh; ,af;fj;jpd; nfhs;ifia vjph;j;jth; ahh;? 
a. W.C. ghdh;[p    b. KfkJ myp [pd;dh  c. yhyhy[gjp uha;   
d. Nejh[p    e. tpil njhpatpy;iy 

 
92. ‘Hindu Dharma Pravardhini Sabha’ was founded by whom and in which 

year? 
a. Veer Savarkar 1920 A.D  b. Rajaram Mohan Rai 1896 A.D 
c. Madan Mohan Malvia 1906 A.D d. Eswar Chandra Vidyasagar 1900 
e. Answer not known 
“,e;J jh;k gh;th;jpdp rig” vDk; mikg;G ahuhy; ve;j Mz;L 
njhlq;fg;gl;lJ? 
a. tPh; rth;f;fhh; 1920 A.D  b. ,uh[h uhk; Nkhfd; uha; 1896 A.D 
c. kjd; Nkhfd; khy;tpah 1906 A.D d. <];tu re;jpu tpj;jpahrhfh; 1900 
e. tpil njhpatpy;iy 

 
93. Match List I with List II choose the correct answer 

List I     List II 
A. Aligarh movement   1. Maulana Muhammad Ali 
B. Deoband movement  2. Sir Syed Ahmad Khan 
C. Ahmedia movement  3. Maulana Hussain Ahmed 
D. Ahrar movement  4. Mirza Ghulam Ahmed 
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A B C D 
a.  1 4 2 3 
b.  2 1 3 4 
c.  2 3 4 1 
d.  3 2 1 4 
e. Answer not known 
gl;bay; I I gl;bay; II cld; nghUj;jp rhpahd tpilia vOJf.  
 gl;bay; I     gl;bay; II  
A. mypfhh; ,af;fk;   1. nksyhd Kfk;kJ myp 

B. jpNahge;j; ,af;fk;   2. rh; iraJ m`kJfhd;  
C. m`kjpah ,af;fk;  3. nksyhd `{ird; m`kJ  

D. muhh; ,af;fk;    4. kph;]h Fyhk; m`kJ  

A B C D 
a.  1 4 2 3 
b.  2 1 3 4 
c.  2 3 4 1 
d.  3 2 1 4 
e. tpil njhpatpy;iy 

 

94. Who condemned the Muslim social system Piri and Muridi through his 
magazine Tahdhib-ul Aklaq? 
a. Mauli Chirag Ali   b. Sir syed Ahamed Khan 
c. Abul Kalam Azad   d. Mizra Ghulam Ahamed 
e. Answer not known 
jf;ffpg; -cy; mf;yhf; vDk; jdJ rQ;rpifapd; %yk; gphp kw;Wk; %hpjp 
vDk; K];ypk; r%f Kiwia fz;bj;jth; ahh;? 
a. nkstp-rpuhf; myp     b. rh; iraj; mfkJfhd; 

c. mg;Jy; fyhk; M]hj;    d. kph;]h Fyhk; mfkJ 
e. tpil njhpatpy;iy 

 

95. In which year the Deccan Education Society was founded? 
a. 1856 b. 1874 c. 1872 d. 1884 e. Answer not known 
jf;fhz fy;tp rKjhak; ve;j Mz;L epWtg;gl;lJ? 
a. 1856 b. 1874 c. 1872 d. 1884 e. tpil njhpatpy;iy 

 

96. Who founded the “Satya Shodhak samaj” (Society of seekers of truth)? 
a. Jyotiba Phule    b. Sree Narayana Guru 
c. Ramalinga Adigal    d. Sripada B.V. Sadhu Maharaja 
e. Answer not known 
‘rj;jpa Nrhjf; rkh[;’ (cz;ik NjLNthh; rq;fk;) vd;w mikg;ig 
Vw;gLj;jpath; 
a. N[hjpghg+Ny    b. = ehuhaz FU 
c. ,uhkypq;f mbfs;   d. =ghj rhJ kfhuh[h 
e. tpil njhpatpy;iy 
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97. Who founded the Indian Reform Association in 1870? 
a. Ram Mohan Roy   b. Debendranath Tagore 
c. Keshab Chandra Sen   d. Ishwar Chandra Vidhyasagar 
e. Answer not known 
,;e;jpa rPh;jpUj;j rq;fj;ij 1870-y; epWtpath; ahh;? 
a. uhk; Nkhfd; uha;    b. NjNge;jpuehj; jh$h; 

c. Nfrg; re;jpu nrd;   d. <];th; re;jpu tpj;ahrhfh; 
e. tpil njhpatpy;iy 

 
98. Who is the Father of Indian Renaissance? 

a. Raja Ram Mohan Roy   b. David Hare 
c. Ishwar Chandra Vidyasagar  d. Rabindra Nath Tagore 
e. Answer not known 
,e;jpa kWkyh;r;rpapd; je;ij ahh;? 
a. uh[h uhk; Nkhfd; uha;  b. Nltpl; `Nu 

c. <~;th; re;jpu tpj;ahrhfh;  d. ugPe;jpu ehj; jh$h; 
e. tpil njhpatpy;iy 

 
99. The founder of Deva Samaj in 1887 was  

a. Swamy Dhayananda Saraswathi b. Shiv Narain Agnihotri 
c. Athmarao Pandurang   d. Kesavachandra Sen 
e. Answer not known 
1887-y; Njt rkh[j;ij Njhw;Wtpj;jth; 
a. Rthkp jahde;j ru];tjp  b. rpt ehuhaz mf;dp N`hj;jphp  
c. mj;kuht; ghz;Luq;   d. Nfrtre;jpu nrd;   

e. tpil njhpatpy;iy  
 

100. The practice of sati was declared “illegal and punishable” by  
a. Lord William Bentinck  b. Lord Dalhousie    
c. Lord Cornwallis   d. Lord  Wellesley    
e. Answer not known 
cld;fl;il VWk; tof;fj;ij> jz;lidf;Fhpa Fw;wk; vdf; $wpath; 
a. tpy;ypak; ngz;bq; gpuG b. ly;n`srp gpuG   

c. fhud;thyp]; gpuG  d. nty;ny];yp gpuG    
e. tpil njhpatpy;iy 

 

101. Muhammadan Literary and Scientific Society of Calcutta was organised 
by 
a. Amir Ali   b. Dudhu Miyan  c. Abdul Latif 
d. Shariatullah  e. Answer not known 
nfhy;fj;jhtpy; Kfkjpahpd; ,yf;fpak; kw;Wk; mwptpay; mikg;ig 
Vw;gLj;jpath; 
a. mkPh; myp   b. JJ`; kpahd;  c. mg;Jy; yj;jP/g; 
d. ~hpaj;Jy;yh`;  e. tpil njhpatpy;iy 
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102. Who introduced Free Noon Meal scheme at first in Tamil Nadu? 
a. M.G Ramachandran  b. Kamaraj   c. Bakthavachalam 
d. Sathiyamurthy  e. Answer not known 
jkpofj;jpy; ,ytr kjpa czTj; jpl;lj;ij Kjypy; 
mwpKfg;gLj;jpath;ahh;? 
a. vk;.[p. uhkre;jpud; b. fhkuh[h;   c. gf;jtr;ryk;  
d. rj;jpa%h;j;jp   e. tpil njhpatpy;iy 

 
103. “Kudimaramathu scheme” in Tamilnadu is associated with the 

maintenance of  
a. Houses  b. Cattle    c.  Water bodies 
d. Agriculture e. Answer not known 
jkpo;ehl;bd; ‘Fbkuhkj;J jpl;lk;’ ,tw;wpd; guhkhpg;NghL njhlh;GilaJ  
a. tPLfs;   b.fhy;eil    c. ePh;epiyfs;    

d. Ntshz;ik  e. tpil njhpatpy;iy 
 
104. The ‘Indra Dhanush Mission’ of Tamilnadu aims at  

a. Creation of hospitals     
b. Vaccination 
c. Creation of Hygienic environment   
d. Providing Ambulance facilities 
e. Answer not known 
jkpo;ehl;bd; ‘,e;jpuh jD~;’ jpl;lj;jpd; Nehf;fkhdJ 
a. kUj;Jtkidfis Vw;gLj;Jjy;     

b. jLg;g+rp toq;Fjy; 
c. J}a Rw;Wr;#oiy cUthf;Fjy;  
d. mtru rpfpr;ir Ch;jp trjpia Vw;gLj;Jjy;  

 e. tpil njhpatpy;iy 
 
105. How many Government Tribal Residential Schools are functioning in 

Tamilnadu? 
a. 300 schools  b. 320 schools  c. 312 schools 
d. 314 schools  e. Answer not known 
jkpofj;jpy; vj;jid muR goq;Fbapdh; jq;fp gapYk; gs;spfs; 
nray;gLfpd;wd?  
a. 300 gs;spfs;  b. 320 gs;spfs;   c. 312 gs;spfs;  

d. 314 gs;spfs;   e. tpil njhpatpy;iy 
 
106. Which is the first state in the country to recognise transgender as a 

separate gender and issue ration cards? 
a. Andhra Pradesh  b. Tamil Nadu  c. Kerala   
d. Karnataka  e. Answer not known 
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ek; ehl;by; jpUeq;ifaiu jdp ghypdkhf mq;fPfhpj;J epaha tpiy 
ml;ilia toq;fpa Kjy; khepyk; vJ? 
a. Me;jpu gpuNjrk;   b. jkpo;ehL    c. Nfush     
d. fh;ehlfh    e. tpil njhpatpy;iy 

 
107. Which toll free helpline number is launched by the Tamil Nadu 

government for women facing violence in domestic and office? 
a. 171  b. 191  c. 181  d. 161  e. Answer not known 
tPL kw;Wk; mYtyfq;fspy; ngz;fSf;F vjpuhd td;Kiwfis 
jLg;gjw;fhf jkpo;ehL murhq;fj;jhy; Vw;gLj;jg;gl;l ,ytr Nrit cjtp 
vz; vJ?  
a. 171  b. 191  c. 181  d. 161  e. tpil njhpatpy;iy 

 
108. Match the following: 

Scheme      Name 
A. Poor widow Daughter's Marriage  
Assistance     1. Sathya Ammaiyar      
B. Widow Remarriage   2. E.V.R. Maniammaiyar 
C. Government Orphanages  3. Sathiyavani Muthu Ammaiyar 
d. Free supply of sewing Machine 4. Dr.Dharmambal Ammaiyar 

A B C  D 
a.  4  2  3  1 
b.  2  4  1  3 
c.  3 1  4  2 
d.   1 3  2  4 
e . Answer not known 
gpd;tUtdtw;iw nghUj;Jq;fs;. 
 jpl;lk;      ngah; 
A. Vio tpjit kfspd; jpUkz cjtp 1. rj;ah mk;ikahh; 
B. tpjit kWkzk;     2. <.nt.uh. kzpak;ikahh; 

C. muR mdhij ,y;yq;fs;    3. rj;jpathdp Kj;J  
mk;ikahh; 

D. ijay; ,ae;jpuk; ,ytrkhf toq;Fjy; 4. lhf;lh;. jh;khk;ghs;  
mk;ikahh; 

  A  B C D 
 a. 4 2 3 1  
 b. 2 4 1 3  
 c. 3 1 4 2  
 d. 1 3 2 4 

e. tpil njhpatpy;iy 
 
109. ___________ is awarded to the BC/MBC/DNC boys and girls who secure 

the first and second marks in the 12th public examination in each district 
and pursue their studies in professional colleges in Tamil Nadu  
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a. Annal Gandhi Memorial Award   
b. Perarignar Anna Memorial Award  
c. Muthulakshmi Ammaiyar Memorial Award 
d. Thanthai periyar Memorial Award 
e. Answer not known  
xt;nthU khtl;lj;jpYk; 12 Mk; tFg;G nghJj; Njh;tpy; Kjy; kw;Wk; 
,uz;lhk; ,lq;fisg; gpbj;J jkpo;ehl;by; cs;s njhopy; Kiw 
fy;Y}hpfspy; gapYk; BC/MBC/DNC khzt khztpah;f;F toq;fg;gLk; 

tpUJ __________ MFk;. 
a. mz;zy; fhe;jp epidT tpUJ     

b. NguwpQh; mz;zh epidT tpUJ  
c. Kj;Jnyl;Rkp mk;ikahh; epidT tpUJ    

d. je;ij nghpahh; epidT tpUJ 
e. tpil njhpatpy;iy 

 
110. The Government of Tamil Nadu have provided free laptop computers to 

all +1 and +2 and college students those studying in 
government/government aided institutions from 
a. 2011 onwards   b. 2012 onwards  c. 2013 onwards 
d. 2014 onwards   e. Answer not known 
jkpof murhy; midj;J muR kw;Wk; muR cjtp ngWk; gs;sp +1, +2 
kw;Wk; (muR kw;Wk; muR cjtp ngWk;) fy;Y}up khzt khztupaw;F 
tpiyapy;yh kb fzpdp toq;fg;gl;L ________ Kjy; toq;fg;gLfpwJ 
a. 2011   b. 2012     c. 2013  
d. 2014   e. tpil njupatpy;iy 

 
111. Why the Pudhu Vaazhvu Project is launched? 

a. To eradicate poverty    
b. To increase employment opportunity 
  c. To decrease economic growth  
d. To help the traders 
e. Answer not known 
GJ tho;Tj; jpl;lk; Vd; njhlq;fg;gl;lJ? 
a. tWikia xopj;jy;   b. Ntiy tha;g;ig mjpfhpj;jy; 
c. nghUshjhu tsh;r;rpia Fiwj;jy; d. tzpfh;fSf;F cjTjy; 
e. tpil njhpatpy;iy 

 
112. The main objective of minimum needs programme used by the planning 

commission is  
a. Poverty alleviation  b. Elementary education  
c. Technological development d. Industrial development 
e. Answer not known 
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jpl;lf; FOtpd; Fiwe;jsT Njitj; jpl;lj;jpd; Kf;fpa Fwpf;Nfhs; 
a. tWik xopg;G    b. Muk;g fy;tp  

c. njhopy;El;g tsu;r;rp  d. njhopy; Jiwia Nkk;gLj;Jjy;  

e. tpil njupatpy;iy 
 
113. The Beneficiaries of Moovalur Ramamirtham scheme are 

a. All primary school students 
b. Girls Students who are studying from 1st to 5th Std. 
c. Girls students who are studied from 6th to 12th in government schools 
d. Girls students of first generation in schools  
e. Answer not known 
%tY}h; ,uhkhkpUjk; mk;ikahh; fy;tp cjtpj;njhif ngwj; jFjpahd 
gadhspfs; 
a. midj;J Muk;gg;gs;sp khzth;fs; 
b. 1 Kjy; 5 k; tFg;Gtiu gapYk; khztpah; 
c. 6 Kjy; 12 k; tFg;G tiu jkpof muRg; gs;spfspy; gapd;w  

khztpah; 
d. gs;spf;fy;tp gapYk; Kjy; jiyKiw khztpah;  
e. tpil njhpatpy;iy. 

 
114. Which among the following statements is / are best explaining the 

objective of “Ennum Ezhuthum Scheme?” 
I. The scheme is launched to help the children make up the loss of 

learning due to corono pandemic. 
II. The scheme is launched with the purpose of education for all. 
III. The scheme is launched with noble objective of alleviating poverty 

in society. 
IV. The scheme is launched with the aim that all children below 8 years 

of age should be able to read, write and know numerals by 2025. 
a. I only   b. I, II and III only  c. II and IV only 
d. I and IV only  e. Answer not known 
“vz;Zk; vOj;Jk;” jpl;lj;jpd; Nehf;fq;fis gpd;tUk; $w;Wfspy; vJ 
rpwg;ghf tpsf;FfpwJ? 
I. nfhNuhdh ngUe;njhw;W fhyj;jpy; Vw;gl;l fw;wy; FiwghLfis 

rhpnra;a Foe;ijfSf;F cjTk; tz;zk; ,j;jpl;lk; 
njhlq;fg;gl;lJ. 

II. midtUf;Fk; fy;tp vd;w Nehf;fj;Jld; ,j;jpl;lk; njhlq;fg;gl;lJ. 
III. tWikia xopf;Fk; Nehf;fpy; ,j;jpl;lk; njhlq;fg;gl;lJ. 
IV. 2025 Mk; Mz;bw;Fs; 8 taJf;Fl;gl;l midj;J Foe;ijfSk; 

vOj gbf;f kw;Wk; vz;fis mwpe;jth;fshf khw;WtJ vd;w 
Nehf;fj;Jld; ,j;jpl;lk; njhlq;fg;gl;lJ.  

a. I kl;Lk;    b. I,II kw;Wk; III kl;Lk;   

c. II kw;Wk; IV kl;Lk;  d.  I kw;Wk; IV kl;Lk;  
e. tpil njhpatpy;iy 
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115. Kalaignarin Anaithu Grama Orunginaintha Velan Valarchi Thittam aims 

at  
1. Increasing the cultivable area 
2. Bringing fallow land under cultivation 
3. Open 100 new Periyar Samathuvapurams 
4. Augmenting water resources 
a. 1, 2 and 3 are correct  b. 2, 3 and 4 are correct  
c. 1, 2 and 4 are correct  d. 1, 2, 3 and 4 are correct  
e. Answer not known 
fiyQhpd; midj;J fpuhk xUq;fpize;j Ntshz; tsh;r;rp jpl;lj;jpd; 
Kf;fpa Nehf;fk; 
1. rhFgb gug;ig mjpfhpf;f nra;jy; 
2. njhlh;e;J epyj;ij rhFgbf;F nfhz;L tUjy; 
3. Gjpjhf 100 nghpahh; rkj;JtGuq;fisj; njhlq;Fjy; 
4. ePh; Mjhuq;fis ngUf;Fjy; 
a. 1> 2 kw;Wk; 3 Mfpait rhp  b. 2> 3 kw;Wk; 4 Mfpait rhp 
c. 1> 2 kw;Wk; 4 Mfpait rhp  d. 1> 2> 3 kw;Wk; 4 Mfpait rhp 

e. tpil njhpatpy;iy 
 
116. 5 men can complete a work in 2 days, 4 women can complete the same 

work in 3 days and 5 boys can do it in 3 days. 1 man, 1 woman and 1 boy, 
working together, can complete the work in: 
a. 6 days    b. 4 days   c. 8 days   
d. 12 days   e. Answer not known 
xU Ntiyia 5 Mz;fs; 2 ehl;fspYk;> 4 ngz;fs; 3 ehl;fspYk;> 5 
rpWth;fs; 3 ehl;fspYk; nra;J Kbf;f KbAk;. 1 Mz;> 1 ngz; kw;Wk; 1 
rpWtd; xd;whf Ntiy nra;tjd; %yk; vj;jid ehl;fspy; Ntiyia 
Kbf;f KbAk;. 
a. 6 ehl;fs;    b. 4 ehl;fs;   c. 8 ehl;fs; 
d. 12 ehl;fs;   e. tpilnjhpatpy;iy 

 
117. Area of a rhombus is 90 cm2. If the length of one diagonal is 10 cm then 

the length of other diagonal is  
a. 18 cm  b.9 cm    c.36 cm   
d.4.5 cm  e. Answer not known 
rha;rJuj;jpd; gug;gsT 90 nr.kP2. xU %iytpl;lj;jpd; ePsk; 10 nr.kP 
vdpy; kw;nwhU %iytpl;lj;jpd; ePsk; fhz;f 
a. 18 cm  b.9 cm    c.36 cm   
d. 4.5 cm  e. tpil njhpatpy;iy 

 

118. How many bricks, each measuring 25 cm x 11.25 cm x 6 cm, will be 
needed to build a wall of 8 m x 6 m x 22.5 cm? 

 a. 5600  b. 6000   c. 6400   
d. 7200  e. Answer not known 
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8 kP x 6 kP x 22.5 nrkP msTs;s xU Rtiuf; fl;Ltjw;F> xt;nthd;Wk; 25 

nrkP x 11.25 nrkP x 6 nrkP msTs;s vj;jid nrq;fw;fs; Njitg;gLk;? 
 a. 5600  b. 6000   c. 6400   

d. 7200  e. tpil njhpatpy;iy 
 

119. A tank can be filled in 40 minutes but there is a leakage in it which can 
empty the full tank in 80 minutes. In how many minutes it can be filled? 
a. 40 minutes  b. 120  minutes  c. 80 minutes  
d. 60 minutes  e. Answer not known 
xU njhl;bia 40 epkplq;fspy; epug;gyhk; Mdhy; mjpy; Vw;gl;l frpT 80 
epkplq;fspy; KO njhl;biaAk; fhyp nra;JtpLk;> vdpy; vj;jid 
epkplq;fspy; me;j njhl;bia epug;g KbAk;? 
a. 40 epkplq;fs;  b. 120 epkplq;fs;  c. 80 epkplq;fs; 
d. 60 epkplq;fs;  e. tpilnjhpatpy;iy 

 

120. The diameter of a semi-circular grass plot is 14 m. Find the cost of fencing 
the plot at  Rs.10 per metre . 
a. Rs. 360  b. Rs. 300   c.Rs. 450   d. Rs. 470 
miu tl;l tbtpyhd Gy;ntsp xd;wpd; tpl;lk; 14 kP. mjw;f;F Rw;W Ntyp 
mikf;f xU kPl;lUf;F &.10 tPjk; nryT Mfpd;wJ vdpy; nkhj;j  
nryit fhz;f 
a. Rs. 360  b. Rs. 300   c.Rs. 450   d. Rs. 470 

 

121. Tamil Nadu education department is set to launch “Tamil Mozhi 
Karpom” scheme for, 
a. Illiterate adults    b. Elementary School Students  
c. Children of migrant workers  d. Foreign tourists 
e. Answer not known 
jkpo;ehL fy;tpj;Jiw> ‘jkpo; nkhop fw;Nghk;’ jpl;lj;ij ahUf;fhf 
nray;gLj;j cs;sJ? 
a. fy;tpawptw;w KjpNahh;  b. njhlf;fg;gs;sp khzth;fs; 
d. Gyk;ngah; njhopyhsh; Foe;ijfs; d. ntspehl;L Rw;Wyhg; gazpfs;  
e. tpil njhpatpy;iy 
 

122. Match the following 
A. Agaram   1. Dharmapuri 
B. Vembakottai  2. Sivagangai 
C. Keezh Namandi 3. Tiruvannamalai 
D. Boothinatham  4. Viruthunagar 
 A B C D 
a. 2 4 3 1 
b. 2 3 1 4 
c. 4 1 3 2 
d. 3 4 2 1 
e. Answer not known 
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gpd;tUtdtw;iwg; nghUj;Jf. 
A. mfuk;   1. jUkGhp 

B. ntk;gf;Nfhl;il  2. rptfq;if 

C. fPo; ekz;b  3. jpUtz;zhkiy 
D. G+j;jpej;jk;  4. tpUJefh; 
 A B C D 
a. 2 4 3 1 
b. 2 3 1 4 
c. 4 1 3 2 
d. 3 4 2 1 
e. tpil njhpatpy;iy 
 

123. Consider the following 
Assertion (A): Tamil Nadu government has started Thiranari Thervu 
Thittam to choose 1000 government school students. 
Reason (R):  The scheme aims to assist students to study abroad for 
higher education. 
a. Both (A) and (R) is true and (R) is the correct explanation of (A). 
b. Both (A) and (R) is true but (R) is not the correct explanation of (A). 
c. Both (A) and (R) is false 
d. (A) is true (R) is false 
e. Answer not known 
gpd;tUtdtw;iw Ma;f. 
$w;W (A): jpwdwpj; Njh;T jpl;lj;jpd;fPo;> jkpo;ehL muR 1000 muR gs;sp 
   khzth;fis Njh;e;njLf;f cs;sJ. 
fhuzk; (R): cah;fy;tpf;fhf ntspehLfspy; gbf;f cjTtNj 
,j;jpl;lj;jpd; Nehf;fkhFk;. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp NkYk; (R)> (A)tpw;F rhpahd tpsf;fkhFk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (R)> (A)tpw;F rhpahd tpsf;fky;y. 
c. (A) kw;Wk; (R) ,uz;Lk; jtW 
d. (A) rhp Mdhy; (R) jtW 
e. tpil njhpatpy;iy 
 

124. The village panchayat that bagged first rank under good governance 
category at National panchayat awards – 2023 is 
a. Birani   b. Pichanur   c. Pudumadam 
d. Kapilo   e. Answer not known 
Njrpa Cuhl;rp tpUJfs; 2023 ,y; ey; MSikg; gphptpy; Kjyplk; gpbj;j 
fpuhk Cuhl;rp>  
a. gpuhdp   b. gpr;rD}h;   c. GJklk; 
d. fhg;gpNyh   e. tpil njhpatpy;iy 
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125. Which place is popularly known as the ‘Grapes City of South India’? 
a. Salem   b. Kolar   c. Tumkur 
d. Cumbum   e. Answer not known 
‘njd;dpe;jpahtpd; jpuhl;ir efuk;’ vd;W gpugykhf mwpag;gLk; ,lk;> 
a. Nryk;   b. Nfhyhh;   c. Jk;$h; 
d. fk;gk;   e. tpil njhpatpy;iy 
 

126. India’s first water metro is opened in,  
a. Kochi   b. Panaji   c. Thane 
d. Haldia   e. Answer not known  
,e;jpahtpd; Kjy; ePh;top nkl;Nuh jpwf;fg;gl;Ls;s ,lk;>  
a. nfhr;rp   b. gdh[p   c. jhNd 
d. `hy;bah   e. tpil njhpatpy;iy 
 

127. Identify the rightly matched pairs. 
GI Product    Location 
1. Thaikkal Rattan Craft -  Mayiladuthurai 
2. Varkey   - Ooty 
3. Sago   - Salem 
4. Honey   - Manamadurai 
a. 1 and 2 only  b. 1, 2 and 3 only  c. 3 and 4 only 
d. 2 and 3 only  e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf 
1. ijf;fhy; gpuk;G  - kapyhLJiw 
2. th;f;fp   - Cl;b 
3. [t;thprp   - Nryk; 
4. Njd;   - khdhkJiu 
a. 1 kw;Wk; 2 kl;Lk; b. 1> 2 kw;Wk; 3 kl;Lk; c. 3 kw;Wk; 4 kl;Lk; 
d. 2 kw;Wk; 3 kl;Lk; e. tpil njhpatpy;iy 
 

128. ‘One Panchayat, One Playground’ project was launched by, 
a. Tamil Nadu  b. Gujarat   c. Uttar Pradesh 
d. Kerala   e. Answer not known 
‘xU Cuhl;rp> xU tpisahl;L ikjhdk;’ jpl;lj;ijj; njhlq;fpAs;s 
khepyk;> 
a. jkpo;ehL   b. F[uhj;   c. cj;jpu gpuNjrk; 

d. Nfush   e. tpil njhpatpy;iy 
 

129. India is expected to become the world’s second largest solar manufacturer 
by, 
a. 2024   b. 2030   c. 2026 
d. 2035   e. Answer not known 
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ve;j Mz;bw;Fs; ,e;jpah cyfpd; ,uz;lhtJ nghpa #hpa rf;jp 
cw;gj;jpahsuhf khWk; vd vjph;ghh;f;fg;gLfpwJ? 
a. 2024   b. 2030   c. 2026 
d. 2035   e. tpil njhpatpy;iy 
 

130. Vibrant Villages Programme is launched in, 
a. Bihar   b. Sikkim   c. Odisha 
d. Arunachal Pradesh e. Answer not known 
Jbg;ghd fpuhkq;fs; jpl;lk; njhlq;fg;gl;l ,lk;> 
a. gPfhh;   b. rpf;fpk;   c. xbrh 
d. mUzhr;ry gpuNjrk; e. tpil njhpatpy;iy 
 

131. The first founding member of the International Big Cats Alliance is, 
a. Bangladesh  b. Nepal   c. Russia 
d. Myanmar   e. Answer not known 
rh;tNjr ngUk; G+idfs; $l;lzpapd; Kjy; epWtd cWg;gpdh;> 
a. tq;fhs Njrk;  b. Neghsk;   c. u~;ah 

d. kpahd;kh;   e. tpil njhpatpy;iy 
 

132. Identify the incorrect statement regarding ‘Digital house’ scheme of Tamil 
Nadu. 
a. The scheme aims to make Tamil Nadu assembly paperless. 
b. It is implemented under National e-vidhan application. 
c. Tamil nadu assembly is the first in India to go paperless. 
d. Under the scheme, an e-book app is uploaded in the Tab for MLAs. 
e. Answer not known 
jkpo;ehl;bd; ‘b[pl;ly; rl;lrig’ jpl;lk; Fwpj;j jtwhd $w;iwf; 
fz;lwpf. 
a.   ,j;jpl;lk; jkpo;ehL rl;lrigia fhfpjkw;wjhf khw;Wk; Nehf;fj;jpy; 

njhlq;fg;gl;Ls;sJ. 
b. ,J Njrpa ,- tpjhd; nraypapd; fPo; nray;gLj;jg;gLfpwJ. 
c. ,e;jpahtpNyNa Kjy; Kiwahf jkpo;ehL rl;lrig fhfpjkw;wjhf 

khwpAs;sJ. 
d. ,j;jpl;lj;jpd; fPo;> rl;lkd;w cWg;gpdh;fspd; Nlg;nsl;by; ,-Gf; nrayp 

gjpNtw;wg;gl;Ls;sJ. 
e. tpil njhpatpy;iy 

 
133. Identify the correct statements from the following 

1. Operation Kaveri is a diplomatic mission to establish peace in Sudan. 
2. It is launched by Karnataka government to evacuate Karnataka state 

residents. 
a. 1 only   b. 2 only   c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 
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rhpahd $w;Wfisf; fz;lwpf. 
1. ‘Mg;Nu~d; fhNthp’ vd;gJ #lhdpy; mikjpia epiyehl;l 

Vw;gLj;jg;gl;l J}juf eltbf;ifahFk;. 
2. ,J fh;ehlf khepyj;jth;fis kPl;gjw;fhf fh;ehlf murhy; 

Nkw;nfhs;sg;gl;lJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;    
c. 1 kw;Wk; 2 ,uz;Lk; d. 1 kw;Wk; 2 ,uz;Lky;y  

e. tpil njhpatpy;iy 
 

134. Which city is the host of the first G20 Trade and Investment working 
group? 
a. Mumbai   b. New Delhi   c. Ahmedabad 
d. Bengaluru  e. Answer not known 
KjyhtJ [p20 th;j;jfk; kw;Wk; KjyPl;L gzpf;FO $l;lk; eilngw;w 
,lk;> 
a. Kk;ig   b. GJ nly;yp   c. mfkjhghj; 

d. ngq;f@U  e. tpil njhpatpy;iy 
 

135. Consider the following statements regarding India’s Chabahar port 
project. 
1. Chatahar port is located in the Gulf of Oman. 
2. It will help India to boost trade with Afghanistan and Central Asia. 
Which of the above statement is/are true? 
a. 1 only   b. 2 only    c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 
,e;jpahtpd; rg`h; JiwKfj; jpl;lk; Fwpj;J gpd;tUk; $w;Wfis Ma;f. 
1. rg`h; JiwKfk; Xkd; tisFlhtpy; mike;Js;sJ. 
2. ,J Mg;fhdp];jhd; kw;Wk; kj;jpa Mrpah cldhd ,e;jpa 

th;j;jfj;ij mjpfhpf;Fk;. 
Nkw;$wpa $w;Wfspy; rhpahdJ vJ/vit? 
a. 1 kl;Lk;   b. 2 kl;Lk;  c. 1 kw;Wk; 2 ,uz;Lk;  
d. 1 kw;Wk; 2 ,uz;Lky;y e. tpil njhpatpy;iy 
 

136. Which of the following is true regarding the 8th India – Thailand Defence 
Dialogue? 
a. It was held in New Delhi 
b. It was cochaired by Deputy Permanent Secretary for Defence, India 

and Special Secretary for Defence, Thailand. 
c. It focused on the education system. 
d. None of the above. 
e. Answer not known 
8tJ ,e;jpah – jha;yhe;J ghJfhg;G Ngr;R thh;j;ij Fwpj;J gpd;tUk; 
$w;Wfspy; rhpahdJ vJ? 
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a. ,J GJ nly;ypapy; eilngw;wJ. 
b. ,e;j $l;lk; ,e;jpahtpd; ghJfhg;Gj;Jiw Jizr; nrayhsh; kw;Wk; 

jha;yhe;jpd; ghJfhg;Gj;Jiw rpwg;G nrayhsh; jiyikapy; 
eilngw;wJ. 

c. ,J fy;tpj;Jiwia ikakhff; nfhz;bUe;jJ. 
d. Nkw;fz;l vJTkpy;iy. 
e. tpil njhpatpy;iy 

 
137. 2023 Quad Leaders’ summit is to be hosted by, 

a. India    b. Australia   c. Japan 
d. USA    e. Answer not known 
2023 Mk; Mz;bd; Fthl; jiyth;fspd; cr;rp khehl;il elj;Jk; ehL> 
a. ,e;jpah    b. M];jpNuypah  c. [g;ghd; 
d. If;fpa mnkhpf;f ehLfs; e. tpil njhpatpy;iy 
 

138. Choose the correctly matched pairs. 
1. SLINEX   - Sri Lanka 
2. Cope India  - USA 
3. Ajeya Warrior  - UK 
a. 1 and 2 only   b. 2 only  c. 2 and 3 only 
d. All the above   e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf. 
1. SLINEX  - ,yq;if 
2. Nfhg; ,e;jpah - If;fpa mnkhpf;f ehLfs; 
3. mn[ah thhpah; - If;fpa NguuR 
a. 1 kw;Wk; 2 kl;Lk; b. 2 kl;Lk;   c. 2 kw;Wk; 3 kl;Lk; 
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

139. The equivalent of the Nobel prize for statistics,  
a. International Prize for statistics  b. Abel prize 
c. Fields medal for statistics   d. Turing award 
e. Answer not known 
Gs;spapay; Jiwapy; Nehgy; ghpRf;F rkkhd ghpR>  
a. rh;tNjr Gs;spapay; ghpR   b. Vngy; ghpR 
d. Gs;spapaYf;fhd /gPy;l]; gjf;fk;  d. J}hpq; tpUJ 
e. tpil njhpatpy;iy 
 

140. India’s overall exports have achieved an all time record growth of ____ in 
2022 – 23 
a. 6%  b. 21% c. 33% d. 14% e. Answer not known 
2022 – 23y; ,e;jpahtpd; xl;Lnkhj;j Vw;Wkjp ____ msT mjpfgl;rkhf 
mjpfhpj;Js;sJ. 
a. 6%  b. 21% c. 33% d. 14% e. tpil njhpatpy;iy 
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141. Indian – American who is the first head of NASA’s Moon to Mars 
Programme 
a. Ashwin Vasavada b. Kamlesh Sharma  c. Anita Sengupta 
d. Amit Kshatriya  e. Answer not known 
ehrhtpd; %d; L khh;]; jpl;lj;jpd; Kjy; jiytuhf epakpf;fg;gl;Ls;s 
,e;jpa – mnkhpf;fh;> 
a. m];tpd; trthlh b. fkNy~; rh;kh  c. mdpjh nrq;Fg;jh 

d. mkPj; ~j;hpah  e. tpil njhpatpy;iy 
 

142. World Art Day is celebrated on April 15th by UNESCO to commemorate 
the birthday of  
a. Michelangelo  b. Pablo Picasso  c. Leonardo Da Vinci 
d. Ludwig Van Beethoven e. Answer not known 
ahUila gpwe;j ehis epidT $Wk; tpjkhf And];Nfh Vg;uy; 15-I 
cyf fiy jpdkhf nfhz;lhLfpwJ? 
a. ikf;fyhQ;rNyh  b. ghg;Nyh gpfhNrh  
c. ypNahdhh;Nlh lhtpd;rp  d. Y}l;tpf; thd; Ngj;Njhtd;  

e. tpil njhpatpy;iy 
 

143. Match the following 
A. World Health Day   1. April 11 
B. World Heritage Day   2. April 22 
C. World Earth Day   3. April 7 
D. National Day of Motherhood 4. April 18 
 A B C D 
a. 2 3 4 1 
b. 3 1 2 4 
c. 1 4 3 2 
d. 3 4 2 1 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf. 
A. cyf Rfhjhu jpdk;    1. Vg;uy; 11 

B. cyf ghuk;ghpa jpdk;    2. Vg;uy; 22 
C. cyf G+kp jpdk;    3. Vg;uy; 7 

D. Njrpa ghJfhg;ghd jha;ik jpdk;  4. Vg;uy; 18 
 A B C D 
a. 2 3 4 1 
b. 3 1 2 4 
c. 1 4 3 2 
d. 3 4 2 1 
e. tpil njhpatpy;iy 
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144. Who was crowned as the Femina Miss India 2023? 
a. Shivani Jadav  b. Nandini Gupta  c. Anjali Sharma 
d. Manushi Chillar e. Answer not known 
/ngkpdh kp]; ,e;jpah 2023 mofpg; gl;lk; ntd;wth;? 
a. ~pthdp [hjt;  b. ee;jpdp Fg;jh  c. mQ;ryp ~h;kh 
d. khD~p rpy;yh;  e. tpil njhpatpy;iy 
 

145. Indian Air Force’s first woman pilot to fly the Rafale fighter jet was, 
a. Shivangi Singh  b. Bhawana Kanth  c. Avani Chaturvedi 
d. Mohana Singh  e. Answer not known 
u/Ngy; Nghh; tpkhdj;ij ,af;fpa ,e;jpa tpkhdg;gilapd; Kjy; ngz; 
tpkhdp> 
a. ~pthq;fp rpq;  b. ghtdh fhe;j;  c. mtzp rJh;Ntjp 
d. Nkhfdh rpq;  e. tpil njhpatpy;iy 
 

146.  The inner curved surface area of a hemispherical dome of a building 
needs to be painted. If the circumference of base is 17.6 m, find the cost of 
painting it at the rate of Rs.5 per sq.m. 
miuf;Nfhs tbt Nkw;$iuapd; cl;Gw tisgug;gpw;Fth;zk; G+r 
Ntz;bAs;sJ.  mjd; cl;Gw mbr;Rw;wsT 17.6kP vdpy;> xU rJu 
kPl;lUf;F &.5 tPjk;> th;zk; G+r MFk; nkhj;j nryitf; fhz;f. 
a. Rs.200.20  b.  Rs.356.20   c.  Rs.240.40   
d. Rs.246.40  e. tpil njhpatpy;iy 

 
147. 210 men working 12 hours a day can finish a job in 18 days. How many 

men are required to finish the same job in 20 days working 14 hours a 
day? 
a. 160  b. 162  c. 164  d. 169  e. Answer not known 
210 Mz;fs; ehnshd;Wf;F 12 kzp Neuk; Ntiy nra;J xU Ntiyia 
18 ehs;fspy; Kbg;gh;. mNj Ntiyia ehnshd;Wf;F 14 kzp Neuk; 
Ntiy nra;J 20 ehl;fspy; Kbf;f vj;jid Mz;fs; Njit  

a. 160  b. 162  c. 164  d. 169  e. tpilnjhpatpy;iy 
 

148. A silver wire when bent in the form of a square encloses an area of 121 sq. 
cm. If the same wire is bent in the form of a circle. Find the area of the 
circle.  
a. 616 sq.cm    b. 162 sq.cm   c. 154 sq.cm   
d. 44 sq.cm    e. Answer not known 
xU nts;spf; fk;gp tisf;fg;gl;L rJukhf khw;Wk; NghJ> mjdhy; 
milgLk; gFjpapd; gug;gsT 121 r.nr.kP mNj nts;spf;fk;gp tl;lkhf 
tisf;fg;gLfpwJ vdpy; tl;lj;jpd; gug;gsT vd;d?  
a. 616 sq.cm    b. 162 sq.cm   c. 154 sq.cm   
d. 44 sq.cm   e. tpilnjhpatpy;iy 
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149. The volume of a cone is 20 cm3. The volume of a cylinder, of same 
radius and height, is  
a. 400 cm3   b. 10 cm3    c. 60 cm3   
d. 40 cm3.  e. Answer not known 
xU $k;gpd; fd msT 20 f.nr.kP vdpy;> mNj Muk;> cauj;ij 
cila cUisapd; fd msT 
a. 400 cm3   b. 10 cm3    c. 60 cm3   
d. 40 cm3.  e. tpilnjhpatpy;iy 
 

150. A rectangular sheet of metal foil with dimension 66 cm x 12 cm is rolled  
to form a cylinder of height 12 cm. Find the volume of the cylinder. 
a. 6000 cm3  b. 5280 cm3   c. 4158 cm3   
d. 5158 cm3  e. Answer not  known 

66nr.kP  12 nr.kP msTfs; nfhz;l xU nrt;tf tbt nky;ypa 
cNyhfj; jfl;bid 12nr.kP cauKs;s xU cUisahf khw;wpdhy; 
fpilf;Fk; cUisapd; fd msitf; fhz;f. 
a. 6000 cm3  b. 5280 cm3   c. 4158 cm3   
d. 5158 cm3  e. tpilnjhpatpy;iy 
 

 


